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Aggregate demand :

Household i purchases
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• Say 's Law : supply creates its own demand

•
When say 's Law holds : no proper concept of
aggregate demand .



Because 6C 1 : say 's Law is broken

( supply dos not create its own demand entirely )
→ only a fraction ④ of supply
becomes demand

"
MPs

→
we have a proper concept of

aggregate demand .

Why is say 's Law broken ? Because 6<1
,

which is because × < a ( finite) , which
is because real wealth enters the utility

function
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To break say 's Law : household must calm

something else than consumption → here it's

real wealth
.

From aggregate demand analysis :

y = -cat [ ys (a) + Mp ]



SH :
. Marginal propensity to spend ( MPs)
. decreasing w/ R

* (a) ! , aggregate supply = real income

. increasing w/ N
- % Two counteracting faces, hard to know

whether output y increase a decreases w/

tightness


